£t TFTKEHEERERR

(A—4—0%%13:20mm 15 7) FH7TEIALY
£ K E B £ T Kk & F H # =) Hi Gz K E #H £ T K & & A # & B
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0
1 41 8,450 845 | 9295 6,270 627 | 6,897 | 14720 1472 16,192
2 850 a5 935 42 8,700 870 | 9570 6,490 649 | 7,139 15190 | 1519 16,709
3 1,700 170 | 1,870 43 8,950 895| 9845( 6,710 671 7,381 | 15660 | 1,566 | 17,226
4 850 a5 935 44 9,200 920 | 10,120 6,930 693 | 7623 16,130 1613| 17,743
5 45 9,450 945 | 10,395 7,150 715 7.865| 16,600 1,660 | 18,260
6 1,020 102 1,122 1,870 187 2,057 46 9,700 970 | 10,670 | 7,370 737 8,107 17070 1,707 | 18,777
7 1,190 119 | 1,309 2,040 204 | 2244 47 9,950 995 | 10,945 7,590 759 | 8349 | 17540 1,754 | 19,294
8 1,360 136 | 1,496 2,210 221 2,431 48 10,200 | 1,020 | 11,220 | 7,810 781 8,591 | 18,010 1,801 | 19,811
9 1,530 153 | 1,683 2,380 238 | 2618 49 10450 | 1,045| 11,495| 8,030 803 | 8833| 18480 | 1,848 | 20,328
10 1,700 170 | 1,870 2,550 255 | 2,805 50 10,700 | 1,070 | 11,770 | 8,250 825| 9,075| 18,950 | 1,895 | 20,845
11 1,880 188 | 2,068 980 98 1078 | 2,860 286 | 3,146 51 11,020 | 1,102 | 12,122 8,470 847 | 9317 19490 | 1,949 21,439
12 2,060 206 | 2,266 1,110 111 1,221 3,170 317 | 3,487 52 11,340 | 1,134 | 12,474 | 8,690 869 | 9,559 | 20,030| 2,003| 22,033
13 2,240 224 | 2464 | 1,240 124 | 1,364 | 3,480 348 | 3,828 53 11,660 | 1,166 | 12,826 | 8,910 891 9,801 | 20570 2,057 | 22,627
14 2,420 242 | 2,662 1,370 137 1,507 | 3,790 379 | 4,169 54 11,980 | 1,198 | 13,178 | 9,130 913 | 10,043 | 21,110 2,111 | 23,221
15 2,600 260 | 2,860 1,500 150 | 1,650 | 4,100 410 | 4510 55 12,300 | 1,230 | 13,530 | 9,350 935 | 10,285 | 21,650 | 2,165 | 23815
16 2,780 278 | 3,058 1,630 163 1,793 | 4410 441 4,851 56 12,620 | 1,262 | 13,882 | 9,570 957 | 10,527 | 22,190 | 2,219 | 24409
17 2,960 206 | 3256| 1,760 176 1,936 | 4,720 472 | 5192 57 12,940 | 1,294 | 14234 9,790 979 | 10,769 | 22,730 | 2,273 | 25,003
18 3,140 314 | 3454 1,890 189 2079 | 5,030 503 | 5,533 58 13,260 | 1,326 | 14586 | 10,010 | 1,001 | 11,011 | 23270 | 2,327 | 25597
19 3,320 332 | 3652 2020 202 | 2222 5340 534 | 5874 59 13,580 | 1,358 | 14,938 | 10,230 | 1,023 | 11,253 | 23810 2,381 | 26,191
20 3,500 350 | 3,850| 2,150 215| 2365| 5,650 565 | 6,215 60 13,900 | 1,390 | 15290 | 10450 | 1,045| 11,495 | 24350 | 2,435| 26,785
21 3,720 372 4092 2320 232 2552 6,040 604 | 6,644 61 14220 | 1422 15642 | 10670 | 1,067 | 11,737 | 24890 | 2489 | 27,379
22 3,940 394 | 4334 2490 249 | 2739 6,430 643 | 7,073 62 14540 | 1454 | 15994 | 10,890 | 1,089 | 11,979 | 25430 | 2543| 27,973
23 4,160 416 | 4576 2,660 266 | 2926 | 6,820 682 | 7,502 63 14,860 | 1486 | 16,346 | 11,110 | 1,111 | 12,221 | 25970 | 2597 | 28567
24 4380 438 | 4818 2830 283 | 3113| 7,210 721 7,931 64 15180 | 1518 | 16,698 | 11,330 | 1,133 | 12,463 | 26,510 | 2,651 | 29,161
25 4,600 460 | 5,060 3,000 300 3300 7600 760 | 8,360 65 15500 | 1550 | 17,050 | 11,550 | 1,155 | 12,705 | 27,050 | 2,705 | 29,755
26 4820 482 | 5302 3,170 317| 3487 7,990 799 | 8,789 66 15820 | 1582 | 17402 | 11,770 | 1,177 | 12,947 | 27590 | 2,759 | 30,349
27 5,040 504 | 5544 | 3,340 334 | 3674 8380 838 | 9218 67 16,140 | 1614| 17,754 | 11,990 | 1,199 | 13,189 | 28130 | 2,813| 30,943
28 5,260 526 | 5,786 | 3,510 351 3,861 8,770 877 | 9,647 68 16,460 | 1,646 | 18,106 | 12,210 | 1,221 | 13431 | 28670 | 2,867 | 31537
29 5,480 548 | 6,028 3,680 368 | 4048 9,160 916 | 10,076 69 16,780 | 1,678 | 18458 | 12,430 | 1,243 | 13,673 | 29,210 | 2,921 | 32,131
30 5,700 570 | 6,270 | 3,850 385| 4235| 9550 955 | 10,505 70 17,100 | 1,710 | 18,810 | 12,650 | 1,265| 13,915 | 29,750 | 2,975 | 32,725
31 5,950 595 | 6,545 | 4,070 407 | 44771 10020 1002 11022
32 6,200 620 6,820 4,290 429 4719 | 10,490 | 1,049 | 11,539 71 K E # £=(320M x/KEZ—5, 300M)x1. 10
33 6,450 645 | 7,095| 4,510 451 4961 | 10,960 | 1,096 | 12,056 §
34 6,700 670 | 7,370 | 4,730 473 5203 | 11,430 | 1,143 12573 100 TKEERE=(220Axk&E—2, 750M) x1. 10
35 6,950 695 | 7,645| 4,950 495 | 5445| 11900| 1,190 | 13,090
36 7,200 720 7920| 5,170 517 | 5687 | 12,370 1,237 13,607
37 7,450 745 8195| 5,390 539 | 5929 12,840 1,284 14124] 101 Kk E # £=(360AxkE—9, 300A)x1. 10
38 7,700 770 | 8470| 5610 561 6,171 | 13,310 | 1,331 | 14,641 §
39 7,950 795 | 8745| 5,830 583 6,413 | 13,780 1,378 15,158 TKEFEHA#=(250Axk&E—5, 750M) x1. 10
40 8,200 820 | 9,020| 6,050 605 6,655| 14250 1425| 15675




